


Why are we doing this work? 
(1) To identify the U.S. Extended Continental Shelf 



How is the extent of an ECS determined? 

Two formula lines 
•  One based entirely on 

morphology of sea floor 
•  Another based on 

morphology of sea floor and 
thickness of sediments 

•  Can use either one 

Two constraint lines 
•  One is 350 nautical miles 

from coast (baselines) 
•  Another is based on finding 

the 2,500 meter contour and 
adding 100 nautical miles 

•  Can use either one 



(2) To Leverage Additional Science 
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